BFxE 100m

Arﬁl—l*" SOER

KR

Bk -y tov- 4

1

oo a1 AW N

6 2807 54

BREA 1

5 996 HFFAAER (2)

7 3018 F4H

REQ)

2 907 AJIFEAER ()

3 2887 kiR
4 3013 &3

Bl— 2
E&Q)

10. 48
10.8

B

- .
BFx# 400m
EEEkig
Ram
Py
B -y ot - R4
7 996 HREFHAER (2)

4 907 FEJIFFAER (1)

1

2
3
4
5
6

6 3019 FE
5 2807 54
3 3020 /IMFE
2 2887 k£

&% (2)
BREA 1
HEKRQ2)
Bl— 2

46. 41
48. 35

3 =
mE

A
KH
E
RH
£E

BFx 80 Om

Arﬁl—l*" SOER

RECER

Bk -y tov- 4

1

2
3
4
5
6

4 2884 =15
2 3019 RE
5 3026 TR
6 909 LA

s 2
&% (2)

1, (2)
BiE

72895 B Fifh 1
3 908 st #5E (1)

1.

1.48. 68
96. 6

B
E

KH
KH
ME
£E
ME

n 3

SHUFR] 4

400m

R

2884

1:00

A Bz (# ) 19974
5B BE— (& B 19794

Bl +0 0
08k =PV
11.22

11.40
11.73
11.87
11.88
11.94

s EiE (@WFERE) 20165
BHd BA (R /) 20064

LR =M
51.79

52.20
52.40
52.50
52.73
55. 41

ME 5B

(ZAEE2E) 20124
= i ﬁ)ﬁﬁ (4 F)

19804

% Vb
1:57.85

2:01. 11
2:06.24
2:09.24
2:10.50
2:14.08



BFxHE 3000m

,Ji.—ﬁ“-aﬁ 8.08.57 WEith FIA (CEEZE)
SEOER 8.42.50 kR EA (K H)

IRtz ORD 0"~ B 4 B ks Vb

1 52881 HE #f+ 3 EE 9:10. 59

2 22877 @B RT3 EE 9:21.62

3 33034 @ #Em) KH 9:31.46

4 63009 b 1EQ) EHE 9:34.57

5 1 988 #H Q) P 9:49.57

6 4 997 E FEQ) HF 9:51.80
AP 4H 1000m[2000m

b p 2871 2881

R 2:59 | 6:05

BFx 20 0mH (0.762m)

EESRECHE 24.39 K# E# (R H)

EEE 24.39 X# Eth (R /)
R BE--0.5
(ORI - R ST

1 52893 BH HE1 EE 26. 64

2 33020 NE BKQ EH 21.01

3 63025 il X2 KH 27.28

4 22891 Bl EX 2 ERE 29. 47

5 7 905 HJII FEEN) WF 30. 35

6 4 901 237 HE(Q2) WF 30. 80

r_m»-aﬁ 28 10 kB HE(E E)
£55R 1.28.12 22U FEE-A#-HEE  H)
R _
W -y F—L - EEA =i b
1 3 KH 3038 Hi RAL(1) 1:33.09

3020 /M HAK(2)
3021 HARFFAEA(2)
3019 FE K#(2)
2 4 @F 999 gEA  EIK(2) 1:33.39
992 FHIl EH5Q2)
907 A JIFEAER (1)
996 HAZFALALR (2)
3 5 EE 2807 5B RRHA 1 1:35.37
2887 E3R Al— 2
2802 Mk {EAER 2
2890 fRux #HX 2

20104
20004

20014
20014

20014
20014



Bl Emk

EFEERRR 16 #%E A% (B A @) 19924
E=f (53 1m96 E g (B &) 19894
R
Tﬁ% o - E £ OB mgg 12%15 1m50 | Tm55 | 1m60 | 1m65 | 1m70 | 1m75 | 1m80 | 1m85 5% | b
1 52803\Es #E 1 |EE ;A b I - " " - " 0 ° 1m93
2 22801 X 2 \EE - B - ° ° ° ° ° XXX 1mgo
3 330242 EQ |EMA - - - 0 ° ° X xjox x X 1m70
4 630148 EAAG) |EMA - - - 0 ° 0 XXX 1m65
5 1/ 905\l FIEE(1) |[#MF - - X X0 XX jo X XX 1m55
4 910 2R HE() |@F XXX
" _
BFx& EEHk
EESREHE m6l EHERE FAR (T HF H) 19904
A=iix m38 O BEA (& H) 19904
R
L % B | 1EE 26E 3EE 4EE SEE | 6EE | =& | I
1 13024 £ EXQ2) |RH X +(5)ng _ST"S“ +8T"§2 +60"7132
2 5 998HE EHQ @F +8f"23 +ST"‘§° x +87"87 +60"?043
— 5md6| 5m60 5m90 5m90
j 2 %0AKr EEQ) WP 0.2 | +0.3 | X | +1.0 +1.0
4 43021 FAFAEQ KA x X j"? x +51"T781
5 628022% BEAS 2 |EE +g"‘g4 +gmg1 +gmg3 +(5)'"§2 +52m5g‘
it 5m18| 5mi4| 5m02 5m18
6 SPev0fRl FX 2 |RE X | 4.6 | +0.1 | +0.6 +1.6
e —
BRR =Bk |
EESREHE 15m35 ®T #H— (&2 k) 20074
K253 14mb7 Tih HEk (44 ) 19874
L - B OB | IEE 2EE 3EE | 4E8 | SEE | 6EE & | 1o
|3 soan ERO) N T TR | T
) 2304 tA BAQ EME x| o e g Pk
oome mxc am S
4 50021 ERFAH Q) R x | ox | Lmer e .
5 6 998HE EFQ MFE x x | 1lmddl 11ma3
™ +2.17 +2.17
X 10m05| 10m25 10m32 10m32
6 42802#Kk RAM 2 EE +1.9 | +2 9 O 1.5




Bl ik

EESKLHE 16m70 )il #s GEIIEZ 20164

E-E0E 7S 14m36 & k# (K M) 20114

"ﬁfﬁﬁ%m“- K % B 1E8 | 2EB | 3EE | 4EE | 5EIB | 6EB | 528 | 3Avh
1 62889 "RA MAKHE 2 EJE 10m98 10m98
2 32883|Ean [E 3 EE 9m34| 9mb1| 9m75 9m75
3 13021 ZFAFAXREH Q) [ KH 9m10 X 9m10
4 5 905|FJIl FORE(1) |[#HPE 6m90, 7m03 7m03
5 43037@L MBEA) EMA X 6m27| 6m46| 6m81 6m81
6 2 914RIFF HEEQ) WS 6m20| 6m43] 6m59| 6m76 6m76

A JL

BFak Mg ‘

EESKIEEHR 52m33 7 4-v TR (h B &) 20094

E-LhE 44m33 & k#t (K M) 20104

2

L FOE | IEB | 2EE | 3EE | 4EE SEE | 6EE | =5 | 14
1 12883EAx [E 3 E[E 26m57 26m57
2 42809 Ll ME 1 |EE X 26m18 26m18
3 23037@LE M) EMA 24m46 24m64 24m64
4 53025 #®mAKQ2) |KH X 20m26 X 20m26
5 3 902;H# [EKXAN) #FE x X x | 16m70 16m70
6 6 999FEA AIAQ) |HE 12m78 12m78

A JL

BFxE LUK ‘

EESKICHE 0ms7 7 4-v &R (e ) 20094

SEOER 53m35 EE E#H (K H) 20124

PJ

L OB | 1EE 268 3EE 4EE  SEE | 6EE | =5 | 1
1 330251 #A(©2) EH 47m91 47m91
2 119028H# EX) #WE 39m49 39m49
3 22889%RA MiKER 2 |EE 39m21 39m21
4 63030 HBEESR (1) [KHA 37m90 37m90
5 52809 Ll WME 1 EE X X 34m35 34m35
6 4 992/F)Il EiE Q) |#HF 26m17 26m17




TFHHE 100m

,Ji.—ﬁ“-aﬁ 11.74 % B (R H)
SECER 12.52 AR HE (# )

S JE+0 0
Wi -y - 4 OB Bt ST )

1 23015 #=1x3m(Q2) £MA 12.77

2 523026 HEX E@(1) EMH 12.95

3 72844 212 EfS1 EE 13.19

4 42843 M ¥ 2 EE 13.53

5 3 938 LA M) WE 13.57

6 6 924 RIE EH(Q) WE 13. 60

ZFXE 3000m

REBILG 8.52.33 /NKHAELY  (BEESE)
AEinHRk 10.03. 72 _EE|7K*"‘?'|‘ €3 H)
Igtr ORD +ov'- B 4 T B Y3 Vb

1 43017 £ x=E(Q2) £EH 10:36.50

2 13024 A %02 KA 10:56. 00

3 2 919 hE 22 @mF 11:10.73

4 32849 A 1K1 EE 11:16.74

5 5 908 HfF ZEF(3) MR 11:33.84

6 62829 A HEF I EE 11:52. 46

SOV E A 1000m|[2000m
3017 3017

R 3:23 | 1.0
TFXIE 4X100m
EESHha 4658 BE-EE-ESCERUGE D)
ey 1978 AF-FF-BA-LA(E @)
EESKECZ 46.58 BEIR-EH-EBi5-Z L (5 )
R )
A e

1 5 EH 3029 & BEAE() 50. 28

3015 F=1F5H(2)
3022 W& EQ)
3026 HEx {Em(1)
2 4 RE 2843 ZHE FTh 2 51.58
2844 A% Hif 1
2845 K& #A 1
2842 3 BHEF 2
3 3 @F 933 Kt KEF®M) 53.02
934 A Fm(1)
938 WA 3ETy (1)
928 X2 EX Q2

20084
20064

20054
20114

20164
20134
20164



TFXE 200mH

EBSRIE 29.03 WA HH (B @) 2015%
EESRECHE 29.03 WA R (R H)  2015%F
R B -2 0
- R 1 St
1 33015 fI=Fx45m(2) KH 29.68
2 2282 ftE #WKEFE I EE 31.23
3 623018 e HFEQ2) KH 32.95
4 7 933 Kt REFEQN) #F 35. 37
5 4 938 luXx 3BHA) #®WF 36. 39
6 52841 BNl =FEEF?2 EE 37.78

L —
ZFXR FENE
EESRECHE 6md4 ¥ B (& H) 20074
R=ECH m87 HEH=F (K H) 20064
S B OB | IEE 2EE 3EE | 4E8 | SEE | 6EE & | 1o
1 1B3018|FHE MmFEQ) KH X +?T"316 +(5)T"20 X +51HT146
2 43020E B EH +‘?'.“(2)6 x +3f‘1?° x +51nTO26
3 8N RET 2 EE x | 4me9) Amld|  4mS0 g9
Ceman mpo we g b b
5 62845 KE B 1 EE x | ool x| An20
Cowmm eo w35 38

x5 n
ZFXR fahiE
EESREHE 15mi1 Bl #FE (BB B B) 20164
R iing4 T % (& @) 20044
Py
B K B R | IEE 2EE 3EE | 4E8 SEE 6EE & | 1o
1| 23032me () B om24| 942 om70 9m70
2 1284213 FHT 2 |EE 6mo3  Tm34 Tm53 Tm53
3 530334E HED) EM 6m33) 664, 6m74 6m74
4 6 939 KRH®) HWFE 5m29 x| 5m40  5m95 5m95
5 3 931HE #MEN) MF 5m03|  5m30 5m30
6 4284747 F HRE 1 |EE 4m97,  5m23 5m23




